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Order of Operations- BODMAS

Choose the equation that shows the correct answer for

each.

1. Which of these equations correctly shows how

get the answer 14¢

a. 152-1
b. (15-=1)=1
c. 16-12
d. (15-1)2

2. Which of these equations correctly shows how to

get the answer 42¢

a. (4+3)xé
b. 4+ (3x6)
Cc. 4+3x6
d 4x6+3

3. Which of these equations correctly shows how to
get the answer 44¢
a. 4x3+8
b. 4x3+ 82
C. [4x3)+8






d: 4x%(3+8)
4. Which of these equations correctly shows how

to get the answer 1422

q. 9-2x20
b ?-(2x20)
c. 92x2-20
d ?x22-20

5. Which of these TWO equations correctly shows
how to get the answer 21¢
a. (6x4)+2+32
b, §X4+2+3
C. 6éx4+(2+32)
d. 6x(4+2) + 32



